Cauchy-Schaulrz Inequality:-
For real numbers
$$n_1, n_2, ..., n_n, y_1, y_2, ..., y_n$$

we get,
 $\left(\sum_{i=1}^{n} n_i y_i\right)^2 \leq \left(\sum_{i=1}^{n} n_i^2\right) \left(\sum_{i=1}^{n} y_i^2\right)$
Equality holds iff \exists some $\lambda \in \mathbb{R}$ such that $n_i = \lambda y_i$
 $\forall i \in \{1, 2, ..., n_i\}$

 \sim

Inequality Page 1

$$> 2 > 2 \qquad \frac{\sum n_i y_i}{\sqrt{(\sum n_i l_i)(\sum y_i^{-1})}} \implies \left(\sum_{j=1}^{n} n_i y_j \right) \leq \left(\sum_{j=1}^{n} n_i y_j \right) \left(\sum_{j=1}^{n} y_j^{-1} \right) \left(\sum_{j=1}^{n} y_j^$$

$$O > Let a, b, c bc positive numbers with at bt c = 1, prove
that $(\frac{1}{a}-1)(\frac{1}{b}-1)(\frac{1}{c}-1) > 8$

$$A_{m} - (\frac{1-a}{a}) = \frac{b+c}{a} \qquad \frac{1-b}{b} = \frac{a+c}{b} \qquad \frac{1-c}{c} = \frac{a+b}{c}$$

$$\Rightarrow (\frac{1-1}{c})(\frac{1}{b}-1)(\frac{1}{c}-1) = (\frac{b+c}{a})(\frac{a+c}{b})(\frac{a+b}{c})$$$$

Nesbitt's Frequelity:-
For a, b, c ERt we have,

$$\frac{a}{btc} + \frac{b}{cta} + \frac{c}{atb} > \frac{3}{2}$$

$$\frac{\operatorname{Proof} := \operatorname{WrLoG}, a \leq b \leq c}{\Rightarrow \operatorname{atb} \leq \operatorname{atc}} \qquad (b+q) - (a+c) = b-a \geq 0}{(a+c) - (a+b)} = c-b \geq 0}$$
$$\Rightarrow \frac{1}{c+b} \leq \operatorname{atc} \leq c+b \qquad (a+c) - (a+b) = c-b \geq 0}{\Rightarrow -a+b}$$
$$\Rightarrow \frac{1}{c+b} \leq \operatorname{atc} \leq \frac{1}{a+b}$$
$$\frac{b}{b+c} + \frac{c}{c+a} + \frac{a}{a+b} \qquad -1$$
$$\frac{a}{b+c} + \frac{b}{c+a} + \frac{c}{a+b} \geq \frac{c}{b+c} + \frac{a}{c+a} + \frac{b}{a+b} \qquad -2$$

$$\frac{(0+C)}{2} = 2\left(\frac{a}{1+c} + \frac{b}{c+c} + \frac{c}{a+b}\right) > \frac{b+c}{b+c} + \frac{c+a}{c+a} + \frac{b+a}{a+b} = 3$$

$$(0+f_{2}) = 2\left(\frac{a}{b+c} + \frac{b}{c+c} + \frac{c}{a+b}\right) > \frac{b+c}{b+c} + \frac{c+a}{c+c} + \frac{b+a}{a+b} = 3$$

$$\Rightarrow \frac{a}{b+c} + \frac{b}{c+c} + \frac{c}{a+b} > \frac{3}{2}$$

$$\Rightarrow \frac{a}{b+c} + \frac{b}{c+c} + \frac{c}{a+b} > \frac{3}{2}$$

$$\Rightarrow \frac{1}{a^{3}(b+c)} + \frac{1}{b^{3}(c+a)} + \frac{1}{c^{3}(a+b)} > \frac{3}{2}$$

$$A_{no!} = \frac{1}{a^{3}(b+c)} + \frac{1}{b^{3}(c+a)} + \frac{1}{c^{3}(a+b)} > \frac{3}{2}$$

$$A_{no!} = \frac{a^{2}}{2 \leq y \leq x}$$

$$ay = 2^{-1}$$

$$ay =$$

$$LHS = \frac{\chi^2}{y_{+2}} + \frac{y_{+2}}{z_{+n}} + \frac{\chi^2}{n_{+y}}$$

LHS
$$\rightarrow \frac{2y}{n+y} + \frac{xy}{2+n} + \frac{xz}{y+z} - 0$$

LHS $\rightarrow \frac{xz}{n+y} + \frac{xy}{2+n} + \frac{xy}{y+z} - 0$

$$\begin{array}{c} (D + C) \\ \Rightarrow 2(L + S) > \frac{2(n+q)}{n+q} + \frac{4(n+2)}{n+2} + \frac{n(2+1)}{3+2} = 2 + n+q > 3\sqrt[3]{n}y_2 = 3 \\ \xrightarrow{\gamma} & \rightarrow \end{array}$$

$$\Rightarrow LHS > \frac{3}{2}$$

Q> Let
$$a_1, a_2, ..., a_n \in \mathbb{R}^{t}$$
 such that $a_i \in [0, i]$ $\forall i \in \{1, 2, ..., n\}$
Prove that,
 $2^{n} a_i (a_1 + a_2) (a_1 + a_2 + a_3) - (a_i + a_2 + ... + a_n) \ge (n + i) a_i^2 a_2^2 ... a_n^{t}$
 $a_i \in [0, 1]$
 $a_2 \in [0, 2]$
 $a_3 \in [0, 3]$

$$Aw' = a_1 + a_{k} + \cdots + a_{k} = a_1 + \frac{a_2}{2} + \frac{a_1}{2} + \frac{a_3}{3} + \frac{a_3}{3} + \frac{a_3}{3} + \frac{a_3}{3} + \frac{a_3}{3} + \frac{a_3}{3} + \frac{a_4}{3} + \frac{a_{k}}{1k} + \frac{a_{k}}{1k}$$

$$k + \frac{k}{1k}$$

$$k + \frac{k}{2} + \frac{a_{k}}{2} + \frac{a_{k}}{2} + \frac{a_{k}}{3} + \frac{a_{k}}{3} + \frac{a_{k}}{3} + \frac{a_{k}}{3} + \frac{a_{k}}{3} + \frac{a_{k}}{1k} + \frac{a_{k}}{1k}$$

$$k + \frac{a_{k}}{1k} + \frac{a_{k}}{1k}$$

$$\frac{N}{\prod_{k=1}^{n}} \left(a_{1} + \cdot + a_{k} \right) > \prod_{k=1}^{n} \left(\frac{k(k+1)}{2} \frac{k(k+1)}{2} a_{1} \left(\frac{a_{1}}{2} \right)^{n} \left(\frac{a_{1}}{3} \right)^{3} \cdot \left(\frac{a_{k}}{4} \right)^{k} \right)$$

$$= \left(\prod_{k=1}^{n} \frac{1}{2} \right) \left(\prod_{k=1}^{n} k_{k} \right) \left(\prod_{k=1}^{n} (k+1) \right) \left(\prod_{k=1}^{n} \left(\frac{a_{k}}{4} \right)^{f(k)} \right)$$

$$f(k) = k\left(\frac{2}{k(k+1)} + \frac{2}{(k+1)(k+2)} + \cdots + \frac{2}{n(n+1)}\right)$$

$$= 2k\left(\frac{1}{k} - \frac{1}{n+1}\right) = 2\left(1 - \frac{k}{n+1}\right) \leq 2$$

$$\stackrel{\text{Tr}}{\underset{k=1}{\longrightarrow}} \left(\frac{1}{k}\right) \stackrel{\text{Tr}}{\underset{k=1}{\longrightarrow}} \left(\frac{1}{k}\right) \stackrel{\text{$$

$$\frac{\prod_{k=1}^{n} (a_{1} + \cdots + a_{k})}{\prod_{k=1}^{n} (a_{1} + \cdots + a_{k})} > \frac{\prod_{k=1}^{n} (u_{k+1})!}{2^{n} \mu! \mu!} = \frac{1}{2^{n}} \frac$$

Tchebyshev's Inequality:

$$a_i, b_i \in \mathbb{R}$$

 $a_i \leq a_2 \leq \cdots \leq a_n$ and $b_i \leq b_2 \leq \cdots \leq b_n$ thus,
 $a_i b_i + a_2 b_2 + \cdots + a_n b_n \geq (a_i + a_2 + \cdots + a_n) (b_i + b_2 + \cdots + b_n)$
 n

Equality holds iff
$$q_1 = a_2 = \cdots = q_n$$
 or $b_1 = b_2 = \cdots = b_n$.

$$\begin{array}{rcl} P_{noof}: & S = a_1b_1 + a_2b_2 + \dots + a_nb_n & w man sum in rearroughand. \\ \\ & S \geqslant & a_1b_1 + a_2b_2 + \dots + a_nb_n \\ \\ & S \geqslant & a_1b_2 + a_2b_3 + \dots + a_nb_1 \\ \\ & S \geqslant & a_1b_3 + a_2b_4 + \dots + a_nb_2 \\ \\ & \vdots \\ \\ & S \geqslant & a_1b_n + a_2b_1 + \dots + a_nb_{n-1} \\ \hline \\ & n S \geqslant & a_1(b_1 + \dots + b_n) + a_2(b_1 + b_2 + \dots + b_n) \\ \\ & n S \geqslant & a_1(b_1 + \dots + a_n)(b_1 + b_2 + \dots + b_n) \\ \\ & \Rightarrow \frac{C}{h} \geqslant & \frac{(a_1 + a_1 + \dots + a_n)(b_1 + b_2 + \dots + b_n)}{h} \end{array}$$

Home Work'-

$$a, b, c \in \mathbb{R}^{t}$$
, then prove that:
 $\frac{a^{2}}{b^{2}} + \frac{b^{2}}{c^{2}} + \frac{c^{2}}{a^{2}} \ge \frac{b}{a} + \frac{c}{b} + \frac{a}{c}$

_

Q)
$$n, y, z \ge 1$$
 and $\frac{1}{n} + \frac{1}{y} + \frac{1}{z} = 2$. Prove that,
 $\sqrt{n+y+z} \ge \sqrt{n-1} + \sqrt{y-1} + \sqrt{z-1}$